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BEFHE 55F 1000m

SU>R BRI No K& P AR ERima0a% M1 %
v 1 2 =5H # BSTC 1-1-2 1.45.180 1000
2 10 #l =X Vortex 2-2-1 1.46.850 800
3 6 KH EpE Vortex 3-1-1 1.47.030 640
4 13 bK BEE )11 2E — K24 — MMER] 4-2-1 1.47.110 512
AERES 5 7 AR 8K Vortex 3-2 1.48.160 410
6 1 &K R BSTC 3-2 1.49.440 328
7 8 b/ rf% Vortex 4-1 1.54.110 262
8 9 L X Vortex 4-2 1.48.730 210
FiE 9 12 #/mK K& Vortex 3 1.48.170 168
10 4 RiE 2B BRER 3 1.54.590 134
11 5 &5H B} BERER 3 1.55.610 107
12 3 WA X#d BSTC 3 2.07.290 86
13 11 AElF RE Vortex 4 1.59.940 69
14 15 HA F+L )11 ZE — K2 — MMER] 4 2.01.390 55
15 16 KFEF B2 )11 2E — K24 — MOMER] 4  2.06.950 44
16 14 #L £ #BIIRE—RRT— MR 4  2.16.740 35
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